ICS 103-081
 Quiz5
Question 1: (4  points)
What is the output of the following program?
Alphabet:   abcdefghijklmnopqrstuvwxyz
	#include <stdio.h>    // 2 points
#include <string.h>

void main() {

char init[11]={'f','e','k','h','t','\0'};

puts(init);

printf("%d\n",strlen(init));

strcat(init,"pdf");

printf("%s\n",init);

if(strstr(init,"tp")==NULL)

  printf("ok\n");

else

 printf("yes\n");

strcpy(init,"kfupm081");

printf("%d\n",strlen(init));

}         
	

	#include <stdio.h>   // 2 points

#include <string.h>

#include <ctype.h>

int main() {

char x1[10]="dcLM37",x2[10]="abMN29";

int i;

for(i=0;i<strlen(x1);i++) {

 if(strcmp(x1,x2)>0)

  x1[i]=x2[i];

 else 

  x1[i]=x1[i]+1;

}

printf("%s\n",x1);

return 0;

}
	


Question 2: (2 points)

Consider the following array and show its status after each pass of selection sort algorithm.

	13
	60
	4
	9
	80
	12

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	4
	9
	12
	13
	60
	80


Question 3 (2 points)

What is the output of the following program?

#include <stdio.h>

int search (int x[], int low, int high,  int target);

int main() {

      int x[10]={1,5,9,11,23,35,41,50,55,61};

      printf("%d",search(x, 0, 9, 41));

      return 0;

} 

int search (int x[], int low, int high,  int target) {

  int middle;

  if (low > high)

    return  -1;

  middle = (low + high)/2; 

  printf("%d\t%d\t%d\t%d\n",low,high,middle,x[middle]);

  if (x[middle] == target) 

    return (middle);

   if (x[middle] < target) 

    return search(x,middle+1,high,target);

  else

    return search(x, low,middle-1,target);

}

	


Question 4: (2 points)

Write a function init that receives two parameters; a 1-D array of integer values, and n representing the number of values in the array.  Using a loop, your function will initialize the elements of the array as shown below.  You can initialize the first element outside the loop.

	3
	5
	7
	9
	11
	13
	etc…
	…...








